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Bt xe MEEE (%) | [UE (hp) xum (°C) _ Hhim (°C) 7K & (mm) BE S (cm) BEE (om)

FanoB: | ZFETOH: | RO | F%SE | &= HE | 50cm [ 1m ] EX AH 2 | BREE
1 E 98 923 -3.0 -3.2 5.6 -4.2 - - - - 12.0 12.0 150.0
2 g 98 924 -3.2 4.1 -0.3 5.3 - - - - 05 12.5 145.0
3 Bh 96 921 -4.0 -4.6 1.4 -8.0 - - - - 0.0 12.5 144.0
4 B 93 921 -2.7 -0.2 3.2 5.9 - - - - 0.5 13.0 130.0
5 S 98 920 6.1 -5.8 -08 -6.3 - - - - 20.0 33.0 150.0
6 g 97 920 58 5.2 -1.5 7.1 - - - - 45.0 78.0 185.0
7 = 97 922 5.7 4.2 —1.2 7.0 - - - - 20.0 98.0 190.0
8 S 97 920 5.1 -7.4 -3.8 -7.6 - - - - 38.0 136.0 193.0
9 e 98 920 -4.3 4.8 -3.9 5.0 - - - - 60.0 196.0 180.0
10 = 98 920 -4.0 -5.0 -3.9 -55 - - - - 35.0 2310 2300
EEEHIE 2 = = = 109.7
11 E 98 920 -4.0 —44 -2.7 -85 - - - - 20.0 251.0 220.0
12 1 B 95 923 -9.5 5.0 -4.2 —13.1 - - - - 16.0 267.0 202.0
13 E5 99 920 -04 -2.3 1.6 -3.7 - - - - 4.0 271.0 195.0
14 E 99 920 -05 5.0 -1.2 5.0 - - - - 15.0 286.0 180.0
15 Bh 99 922 -4.6 -2.0 -0.3 -5.7 - - - - 2.0 288.0 175.0
16 Bh 94 922 1.6 -1.1 6.0 -4.2 - - - - 0.0 288.0 170.0
17 Bh 93 920 1.4 -6.8 7.2 -10.7 - - - - 0.0 288.0 160.0
18 £ 93 920 -4.6 -2.0 1.2 -9.1 - - - - 40.0 328.0 190.0
19 = 95 920 -73 -5.7 -4.3 -7.3 - - - - 35.0 363.0 213.0
20 = 98 920 -4.0 -6.9 -4.1 -8.4 - - - - 10.0 373.0 200.0
) F {8 - - = = 190.5
21 E 96 922 —5.0 55 -2.7 6.7 - - - - 10.0 383.0 195.0
22 <Y 95 922 -7.5 -6.5 -2.2 -11.3 - - - - 10.0 393.0 200.0
23 o 95 922 -5.8 -6.6 -0.2 -11.2 - - - - 1.0 400.0 198.0
24 E 93 922 -4.0 -4.6 2.2 -11.3 - - - - 10.0 410.0 200.0
25 (5 92 922 -5.8 -3.8 -1.7 -8.9 - - - - 4.0 414.0 193.0
26 E5 92 923 -0.5 -2.3 34 -8.3 - - - - 0.0 414.0 190.0
27 <BY 98 925 0.1 0.1 34 -7.3 - - - - 23.0 437.0 200.0
28 En 94 924 -3.8 1.1 9.3 -10.5 - - - - 0.0 437.0 195.0
TaFH{E 94.4 922.8 -4.1 -3.5 1.4 -9.4 RExE | RFRKE | RKFKE | RFKE 8.0 196.4
AE 96.0 921.4 -3.9 4.1 0.2 1.6 KEE | KFE | XHE | KFE 15.6 184.8
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